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104 110 80 72 = mean(cl)
124 96 126 111 ;Elﬂ.eiﬁ'é;
85 85 122 82 [1] 103.6
120 109 79 81 e
= meanicd)
[1] 94.8
= var{cl)
[1] 314.2
= var{c2)
cl <-c(128, 104, 124, 85, 120) (] 170.3
c2 <- ¢(118, 110, 96, 85, 109) tl oS
c3 <- ¢(80, 80, 126, 122, 79) S
c4 <-c(127,72, 111, 82, 81)
mean(cl)
mean(c2)
mean(c3)
mean(c4)
var(cl)
var(c2)
var(c3)
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= print(m)
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= print(v)
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X <- round( rnorm(1000000, mean=100, sd=20) )
m <- numeric(20)
v <- numeric(20)
for (i in 1:20) {
s <- X[floor( runif(5, 1, 1000000+1) )]
m[i] <- mean(s)
V[i] <- var(s)
}
for (iin 1:20) { print( mean(m[1:i]) ) }

for (i in 1:20) { print( mean(v[1:i]) ) } 35
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